16 5 13 6
15 114 md 54
66 16
o 264km?
58
o 54 50
206 m? 12 115 md 56
o 12 9
17 21 md
13 5
o
14 7 20 30




A) B) C) (D)=(C)/(A) ()=C) OC)=C)MA)
E) F) (G)=(F)/(A) ()=(E+C)IC )= )/A)
(m3) (m3 (m3) (m3)

4 17,696 79% 1 1,400 19,096 85%

22,430
4 17,696 79% 1 1,400 19,096 85%
4 35,600 64% 1 1,400 37,000 66%

55,648
8 54,700 98% 1 1,600 56,300 101%
0 0 - 0 0 0 -

0
0 0 - 0 0 0 -
4 14,526 39% 0 0 14,526 39%

37,087
4 14,526 39% 0 0 14,526 39%
1 3,228 13% 1 4,638 7,866 32%

24,540
2 7,866 32% 3 16,674 24,540 100%
2 2,700 79% 1 11,000 13,700 403%

3,400
2 2,700 79% 1 11,000 13,700 403%
0 0 - 0 0 0 -

0
0 0 - 0 0 0 -
0 0 0% 0 0 0 0%

26,611
0 0 0% 1 17,000 17,000 64%
8 40,522 101% 0 0 40,522 101%

39,976
9 40,868 102% 0 0 40,868 102%
23 114272 54% 4 18,438 132,710 63%

209,692
29 138356 66% 7 47674 186,030 89%




